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x – 3y = -9 

x – y = -1 
 

  x – y = -4  

  -3x + 3y = -6  
 

  x + 3y = 6 

  -2x – 6y = -12 
 

2x + 5y = 14 

6x + 7y = 10  

  x – 2y = 7 

 -x + 2y = 7       

 -16x + 2y = -2 

 y = 8x – 1 

Using a Graph 
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Using Substitution or Elimination 
 

Using Substitution or Elimination 
 



  

  

  

 

 

A
n

sw
e

r K
e

y
! 

One Solution 

Infinitely 
Many  

Solutions 

No Solution 

©
 L

is
a

 D
a

v
e

n
p

o
rt

 2
0
1

3
 



 

  

 

 
 
 
 
 
 
 
 
 
 
 
  

 

  

 
 

x – 3y = -9 

x – y = -1 
 

  x – y = -4  

  -3x + 3y = -6  
 

  x + 3y = 6 

  -2x – 6y = -12 
 

2x + 5y = 14 

6x + 7y = 10  

  x – 2y = 7 

 -x + 2y = 7       

 -16x + 2y = -2 

 y = 8x – 1 

Using a Graph 
 

Using a Graph 
 

Using a Graph 
 

Using Substitution or Elimination 
 

Using Substitution or Elimination 
 

Using Substitution or Elimination 
 

 x – 3y = -9 

-x            -x  

    -3y = -x – 9  

    -3      -3   -3  

 

    y = 
1

3
x + 3  

 

 x – y = -1  

-x          -x 

      -y = -x – 1  

      -1    -1   -1 

 

    y = x + 1  

   x – y = -4 

  -x          -x 

    -y   = -x – 4  

    -1      -1   -1 

 

    y  = x + 4 

 -3x + 3y = -6 

 +3x          +3x 

         3y = 3x – 6  

          3     3      3 

 

         y =  x – 2   

 

   x + 3y = 6 

  -x           -x 

        3y = -x + 6 

        3       3    3 

 

        y  = 
−1

3
x + 2  

   -2x – 6y = -12 

   +2x           +2x 

         -6y = 2x - 12   

          -6     -6    -6 

 

         y = 
−1

3
x + 2   

-3(2x + 5y = 14)           -6x – 15y = -42 

    6x + 7y = 10              6x  + 7y  = 10 
 

 

 

 

           -8y = -32 

         -8      -8 

            y = 4 

2x + 5y = 14 

2x + 5(4) = 14 

2x + 20 = 14 

      -20    -20 

   2x = -6 

    2      2   

       x = -3          
Solution: (-3, 4) 

 
Solution: (3, 4) 

 

 

  x – 2y = 7 

 -x + 2y = 7  

       

         0 = 14 

 

No Solution!      
 

-16x + 2y = -2 

-16x + 2(8x – 1) = -2 

-16x + 16x – 2  = -2 

                    -2 = -2  

 

Infinitely Many Solutions! 
 

-  

 

Infinitely Many Solutions! 
 

-  

 

No Solution! 
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Directions 
 

Step 1:  Print pages 1 & 2 (along the short edge). 
Step 2: Cut along the thick dotted line at the bottom and  

discard that piece. 
Step 3:  Fold in half (hamburger style) 

Step 4: Cut just the top half along the dotted lines to  
create the three tabs. 

 
The final product should look like this: 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


